1 v | EHEROWES 2024 FERE WATRS I (K2 R) ATHESH SR W@ | & 5 (RO
B 1 K%
1] FEkEn _dx EROEDDFECHEL L. X34 =y EBLTEICKD, [ X2Vx3 —4dx BROK.
a) «/2x+1=ttEB
w=x3—4E92E, D32 mh5 x2dx = L g
V2x 1 =1t &D, 2x+1:t2:>x=i(t2—l) dx 3
p 2 LIch'o T,
TNn&b, d—’; =1 EHBDT, dx =tdt.
/ Vx a’x_/f fdu_%% C:%( x3—4)3+C

/ A_l /(t /(z —2)dt = —z -2t+C

= E(«/Zx +1)3—2V2x+1+C

- %(2){ DV F 12V F14C
- %(2,\'—5)«/2/\‘ Fi+C

b) 2x+1 =1 &BK.

e ;
l—e* =u &BLTEITED, /1 ~ dx ZRDA.
1

W +1=tLD, x=—-(@-1

' y | * 2( 1) u=1-e*&95&, Z—zz—e’c o, eXdx = —du.

- X _ 1 _ 1
FIe gy T &P dv=qde Lizh= T,
LichioC, / T dx_/%(—du):—logu—kc:_log(l—ex)—|—C

(z—l)—l 1 1.1 _ 1.3 1
\/ﬁ / dt /( 12—t 2)dt—3t2 2t2 +C
=§(~/2x+1)3—2«/2x+1+c

:%(2x+1)\/2x+1—2«/2x+1+c

- %(2x75)«/2x Ti+cC

202410818 [E(THE<]



3
f (5x + 2)vVx + 1dx BRDXK.
0

u=Jx+1&9%E x =u?-11H5,
Lichio T,
3
/ Gx +2)vx + 1dx = /(5(142 -1 —|—2)u~2u du = /(101{4 — 6u?)du
0
=3
= [Zus —2u3]x
x=0
3
- [2((x +D2Vx F 1= (x+ Dvx + 1)}0

= [Zx(x + 1)@]2

=2x3xB34+1)x/34+1-0
=48

d—x:2u=>dx:2udu.
du

ZERD K.

dx
x log x

63
logx =t tEBlA?/
e

logx =t £T2d&, ﬂziﬁdt:

dx X
Lieh' o T,

==

3 3

e3 d x=e x=e
/ AR / 1 dt = [logt]
e xlogx X t x=e

3

= [log(log x)]:

= log(loge?) — log(loge))
=log3 —1log1
= log3

1B | HlHE KA (kuwata.04f@g.chuo-u.ac. jp)

a) ZAWNT,

dx 1 1
—_— = —_—— + - +
/ x2(x +3) /( 9x = 3x2

|
9(x +3) )dx

%log(x +3)+C

P

Ay 1 a b C N - - — a
a) EX = =4 = PEDIIDKRDIC, Ta, b, c DIEZEDK.
(6] a) %= 2(x 1 3) x+x2+x—|—3 a c
2 N2
l_,_i_,_ C_ mEpTBRE ax(x +3)+b(x+3)+cx _ (a+c)x=+ Ba+b)x +3b
x  x2  x+3 x2(x +3)
znp % [CHELVTENS, FED x [DVT (a + )x2 + (3a + b)x + 3b = 1 BALDIID.
x%(x
N&
a+c = 0
3a+b = 0
3 = 1
- 2 -1, 1 _ 1
NZBNT, a= 9,b— 3 C= g
b) FERES f 4 mgmd.
x2(x +3)

L

N



